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CID 33, 58, 59 (Subclause 5.1.7.4.1, page 46)

Comment

• Comment 33: Figure 20 has the title of "Successful data transmission 
without an acknowledgment", but the actual figure has AR=1, and sh
ows an acknowledgement.   I believe the wrong figure is here

• Comment 58: Text is about "without ACK". Buth the figure 20 
describes about with ACK

• Comment 59: In "without ACK" case, AR should be "0". But AR=1 in 
figure 21.figure 21.

Suggested Remedy

Comment 33: Put in the correct figure• Comment 33: Put in the correct figure

• Comment 58: Change figure 20 with figure 21

• Comment 59: Change "AR=1" to "AR=0" in figure 21
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Draft D6 (Subclause 5.1.7.4.1, page 46)

SentenceSentence
The message sequence chart in Figure 20 
shows the scenario for transmitting a single g g
frame of data from an originator to a recipient 
without requiring an acknowledgment. 
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Resolution/instruction to editor
Resolution/instruction to editor

Change figure 20 with figure 21
Change AR=1 to AR=0
S b l 5 1 7 4 1 46 li 26Subclause 5.1.7.4.1, page 46, line 26

In this case, the originator transmits the data frame with the 
Acknowledgment Request (AR) subfield of the frame control 
field equal to zero.q

AR 0
AR=0

AR=0
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CID 34 (Subclause 5.1.7.4.2, page 47)

C tComment

• Figure 21 has the title of "Successful data tr• Figure 21 has the title of Successful data tr
ansmission with an acknowledgment", but t
he actual figure shows without an acknowlehe actual figure shows without an acknowle
dgement.

C i• Comment is wrong.

Suggested RemedySuggested Remedy

• Put in the corrected figure

TG-VLC Submission Slide 5 Jaeseung Son et al., Samsung

Put in the corrected figure
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Resolution/instruction to editor
Resolution/instruction to editor

Resolution/instruction to editor
Change figure 21 with figure 20
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